DAILY BASIS ASSIGNMENT
DAY: SATURDAY STD: IV DATE:23.05.2020

SUBJECT: ENGLISH

Cross the word which is not similar in meaning to the other three words:
1. a) walk
b) jump
c) jog
d) stroll
2. a) yell
b) cry
c) giggle
d) scream

3. a) praise

b) admire
c) appreciate
d) select

4. a) permission

b) freedom
c) independence
d) liberty
5. a) afraid
b) terrified
C) nervous

d) scared



SUBJECT : MATHEMATICS

Multiple choice questions(select the correct one):-
1.Compare 79285 79258.
a) > b) < c) = d) +

2. Predecessor of the largest 4-digit number is
a)9999  b) 9989 c) 9998 d) 8999

3. There are ten thousand in 1 lakh.
a) 10 b) 100 c) 1000 d) 10000

4. Successor of the smallest 6-digit numberis ____.
a) 100002 b) 100000 c) 100009 d) 100001

5. Which is the largest number 18944, 18994, 81949, 81499 ?
a) 18944 b) 18994 ) 81949 d) 81499

SUBJECT: COMPUTER

Choose the best options from those given below :-

1) Things that can be done by computer

a)Washing  b)Feeling c)Calculation d)Cooking
b)

2) Fifth generation computer is
a) Robotics b) Notebook  c) laptop d) Chip

3) In PPM ,M stands for

a) Memory b) Minor c) Major d) Minute
4) Monitor is
a) Coloured b) Black and White c)Bothaandb d)Onlyb

5) A sensor based special screen is
a) Memory b) Monitor c) Keyboard d)Touch screen



SUBJECT: EVS

Choose the correct answer:
1.Weavers weave cloth with the help of
a) Brush b) Loom
c) Clay d) Black board

2.A good touch makes someone feel
a) Scared b) Confused

c) Happy d) Unhappy

3.Your father’s sister is your
a) Aunt b) Sister
c) Friend d) Neighbour

4.Foster parents are the parents who look after the
a) Adopted child b) Neighbour’s child
c) Friend’s child d) Relative’s child

5.Your paternal grandfather is your
a) Mother’s father b) Father’s father
c) Cousin’s father d) Friend's father
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